



<https://toc.ui.ac.ir>



<https://www.ui.ac.ir>

A NOTE ON THE BINOMIAL FIBONACCI SUMS

KAROL GRYSZKA *

ABSTRACT. In this paper, we extend the recently obtained weighted binomial Fibonacci identities to arbitrary second-order recurrence sequences and to the Fibonacci m -step numbers. This work is inspired by a recently published problem and solution in the journal The Fibonacci Quarterly.

1. Motivation and Preliminaries

The literature on the binomial Fibonacci sums is quite rich. There are many articles on this subject, including the recent ones [3, 11, 12, 16] as well as the classic ones such as [4, 5, 10, 14]. Many problems related to such sums appear in the Elementary Problems and Solutions and Advanced Problems and Solutions of The Fibonacci Quarterly. In [7] the following problem of proving that the following binomial sums hold was suggested:

$$(1.1) \quad \sum_{k=0}^n \binom{n}{k} \frac{F_k + L_k}{k+1} = \frac{F_{2n+1} + L_{2n+1}}{n+1}, \quad \sum_{k=0}^n \binom{n}{k} \frac{F_k + L_k}{(k+1)(k+2)} = \frac{F_{2n+2} + L_{2n+2} - 2}{(n+1)(n+2)}.$$

Ventas [18] provided a solution to this problem. In fact, he proved a generalization of these two identities to the Gibonacci sequence. The result is as follows:

MSC(2020): Primary: 11B39; Secondary: 05A19.

Keywords: Fibonacci identity, Combinatorial identity, Fibonacci number, Binomial coefficient.

Communicated by Alireza Abdollahi.

Received: 31 July 2025, Accepted: dd May 2026, Published Online: 26 May 2026.

Cite this article: K. Gryszka, A note on the binomial Fibonacci sums , *Trans. Comb.*, x no. x (202x) xx-xx. <https://dx.doi.org/10.22108/toc.2026.146194.2307> .

Theorem 1.1. *Let $G_{1,k}$ and $G_{2,k}$ be any two Gibonacci sequences. Then*

$$\sum_{k=0}^n \binom{n}{k} \frac{G_{1,k} + G_{2,k}}{k+1} = \frac{G_{1,2n+1} + G_{2,2n+1} + \Delta_1 + \Delta_2}{n+1},$$

$$\sum_{k=0}^n \binom{n}{k} \frac{G_{1,k} + G_{2,k}}{(k+1)(k+2)} = \frac{G_{1,2n+2} + G_{2,2n+2} - \Delta_{1,n} - \Delta_{2,n}}{(n+1)(n+2)},$$

where

$$\Delta_k = G_{k,1} - G_{k,0}, \quad \Delta_{k,n} = G_{k,1} + (n-2)(G_{k,1} - G_{k,0}).$$

The goal of this note is to extend Theorem 1.1 to Horadam numbers, Fibonacci-like polynomials and to the Fibonacci m -step numbers. These identities are presumably new and they possess the same structure as the original ones.

We note that in parallel to our research, Frontczak [8] also investigated (independently) the extension of (1.1). However, his approach was quite different and has led to different identities, limited to the classic Fibonacci and Lucas numbers, but with the remark that they could be extended to the Gibonacci or the Horadam numbers (we refer to classic books by Koshy [13] and Vajda [17] for more information on these sequences).

To this end, let $H_n = H_n(a, b; p, q)$ for $n \in \mathbb{Z}$ denote the Horadam sequence, which is given by

$$H_n = pH_{n-1} - qH_{n-2}$$

and $H_0 = a$, $H_1 = b$. We extend Horadam numbers to negative indices via relation

$$H_{-n} = \frac{1}{q}(pH_{-n+1} - H_{-n+2}).$$

If the context is clear, we will shorten the notation to H_n . We also have $F_n = H_n(0, 1; 1, -1)$, $L_n = H_n(2, 1; 1, -1)$, and $G_n = H_n(a, b; 1, -1)$, the Fibonacci, the Lucas, and the Gibonacci numbers, respectively. We impose the obvious restriction $q \neq 0$ and $(a, b) \neq (0, 0)$.

Associated with H_n are the Lucas sequences of the first kind $u_n(p, q) = H_n(0, 1; p, q)$ and of the second kind $v_n(p, q) = H_n(2, p; p, q)$.

Horadam numbers in the non-degenerate case $\Delta = p^2 - 4q > 0$ possess a Binet-type formula

$$H_n = \frac{A\sigma^n - B\tau^n}{\sigma - \tau}, \quad n \in \mathbb{Z},$$

where $A = b - a\tau$ and $B = b - a\sigma$, and τ, σ are the roots of the characteristic equation $x^2 - px + q = 0$. In particular,

$$\sigma = \sigma(p, q) = \frac{p + \sqrt{\Delta}}{2}, \quad \tau = \tau(p, q) = \frac{p - \sqrt{\Delta}}{2},$$

and $\sigma + \tau = p$, $\sigma\tau = q$, $\sigma - \tau = \sqrt{\Delta}$. We also have

$$u_n = \frac{\sigma^n - \tau^n}{\sigma - \tau}, \quad v_n = \sigma^n + \tau^n.$$

Finally,

$$p\sigma - q = \sigma^2, \quad p\tau - q = \tau^2.$$

We also have the following simple lemma, which can be easily verified via direct computation.

Lemma 1.2. *For all $r \neq 0$ we have the relations*

$$(1.2) \quad \sigma^r = \sigma u_r - q u_{r-1}, \quad \text{and} \quad \tau^r = \tau u_r - q u_{r-1}$$

and

$$(1.3) \quad \sigma^r \sqrt{\Delta} = \sigma v_r - q v_{r-1}, \quad \text{and} \quad \tau^r \sqrt{\Delta} = -\tau v_r + q v_{r-1}.$$

The Fibonacci m -step numbers $F_n^{(m)}$ are defined via the recurrence

$$F_n^{(m)} = F_{n-1}^{(m)} + \dots + F_{n-m}^{(m)}$$

with the initial conditions $F_0^{(m)}, \dots, F_{m-1}^{(m)}$ being arbitrary, but fixed numbers. We extend these sequences to negative indices via the relation

$$F_{-n}^{(m)} = F_{-n+m}^{(m)} - F_{-n+m-1}^{(m)} - \dots - F_{-n+1}^{(m)}.$$

We use $F_n^{(3)} = T_n$ and $F_n^{(4)} = Q_n$ to denote the Tribonacci and the Tetranacci sequences, respectively.

We let $\alpha_0, \dots, \alpha_{m-1}$ denote the roots of the characteristic equation of the Fibonacci m -step numbers

$$x^m = x^{m-1} + \dots + x + 1$$

in the ring $\mathbb{C}$. Let $\alpha_{(m)} \in \{\alpha_0, \dots, \alpha_{m-1}\}$. Then we have the following identity,

$$(1.4) \quad 1 + \alpha_{(m)}^{m+1} = 2\alpha_{(m)}^m,$$

which can be easily verified. Fibonacci m -step numbers satisfy a Binet-type formula: if $\alpha_0, \dots, \alpha_{m-1}$ are the roots of the characteristic equation, then

$$F_n^{(m)} = \sum_{k=0}^{m-1} A_k \alpha_k^n,$$

where $A_k \in \mathbb{C}$. The numbers A_k are determined by the system of linear equations given by the identity

$$F_j^{(m)} = \sum_{k=0}^{m-1} A_k \alpha_k^j, \quad j = 0, \dots, m-1.$$

Recall that if $r > 0$ is an integer, then the rising factorial of x is defined as

$$x^{(r)} = \prod_{j=0}^{r-1} (x + j)$$

with particular cases $x^{(0)} = 1$ and $x^{(1)} = x$.

2. Extension to Horadam numbers

Before we address the generalization, we give a brief introductory comment. The identities provided in Theorem 1.1 are in fact based on a single sum of weighted Gibonacci numbers of the following form:

$$\sum_{k=0}^n \binom{n}{k} \frac{G_k}{k+1}, \quad \sum_{k=0}^n \binom{n}{k} \frac{G_k}{(k+1)(k+2)}.$$

The final result is a combination of these sums for two different Gibonacci sequences. Therefore, to derive any similar identity, it is sufficient to find a closed form for a single Gibonacci sequence.

Let us start with a simple observation related to the binomial expansion.

Lemma 2.1. *Let $0 \leq r < n$ and $s \geq 1$ be integers. Then*

$$(2.1) \quad \sum_{k=r}^n \binom{n}{k} u_s^k (-q)^{n-k} u_{s-1}^{n-k} H_{k-r} = H_{sn-r} - \Delta_{n,s}(r),$$

where

$$(2.2) \quad \Delta_{n,s}(r) = \sum_{k=0}^{r-1} \binom{n}{k} u_s^k (-q)^{n-k} u_{s-1}^{n-k} H_{k-r}.$$

Proof. We use (1.2) and calculate

$$\begin{aligned} \sigma^{sn} &= (\sigma u_s - q u_{s-1})^n = \sum_{k=0}^n \binom{n}{k} \sigma^k u_s^k (-q)^{n-k} u_{s-1}^{n-k}, \\ \tau^{sn} &= (\tau u_s - q u_{s-1})^n = \sum_{k=0}^n \binom{n}{k} \tau^k u_s^k (-q)^{n-k} u_{s-1}^{n-k}. \end{aligned}$$

Multiply through by σ^{-r} and τ^{-r} , respectively, and use the Binet formula to get

$$H_{sn-r} = \sum_{k=0}^n \binom{n}{k} u_s^k (-q)^{n-k} u_{s-1}^{n-k} H_{k-r}.$$

From that we get (2.1) and (2.2). □

Particular instances of the above lemma were used in [18], where the author considered the Gibonacci sequence.

Example 2.2. For the Gibonacci numbers, we obtain

$$\sum_{k=1}^n \binom{n}{k} G_{k-1} = G_{2n-1} - G_{-1} = G_{2n-1} - (G_1 - G_0)$$

and

$$\sum_{k=2}^n \binom{n}{k} G_{k-2} = G_{2n-2} - G_{-2} - nG_{-1}.$$

Using $G_{-1} = G_1 - G_0$ and

$$G_{-2} = G_0 - G_{-1} = 2G_0 - G_1$$

we obtain

$$\sum_{k=2}^n \binom{n}{k} G_{k-2} = G_{2n-2} + (n-2)G_0 - (n-1)G_1.$$

This recovers the lemma in [18], where the author provided the identity and suggested induction as a means of proving it. Our consideration shows that this is not necessary.

A similar result to Lemma 2.1 can be stated by using identity (1.3).

Lemma 2.3. *Let $0 \leq r < n$, $s \geq 1$ be an integer and let n be even. Then*

$$\sum_{k=r}^n \binom{n}{k} v_s^k (-q)^{n-k} v_{s-1}^{n-k} H_{k-r} = \Delta^{\frac{n}{2}} H_{sn-r} - \tilde{\Delta}_{n,s}(r),$$

where

$$\tilde{\Delta}_{n,s}(r) = \sum_{k=0}^{r-1} \binom{n}{k} v_s^k (-q)^{n-k} v_{s-1}^{n-k} H_{k-r}.$$

Proof. Use

$$(\tau^s \sqrt{\Delta})^n = (\tau v_s - q v_{s-1})^n,$$

which follows from (1.3) for even n . □

We now move to the main result of this section, which generalizes the initial identity in two different ways.

Theorem 2.4. *Let $0 \leq r < n$ and $s \geq 1$ be integers. Then for any Horadam sequence H_n , we have*

$$\sum_{k=0}^n \binom{n}{k} \frac{u_s^k (-q)^{n-k} u_{s-1}^{n-k} H_k}{(k+1)^{(r)}} = \frac{1}{u_s^r (n+1)^{(r)}} (H_{s(n+r)-r} - \Delta_{n+r,s}(r)).$$

Proof. We have

$$\begin{aligned} \sum_{k=0}^n \binom{n}{k} \frac{u_s^k (-q)^{n-k} u_{s-1}^{n-k} H_k}{(k+1)^{(r)}} &= \frac{1}{(n+1)^{(r)}} \sum_{k=0}^n \binom{n}{k} \frac{(n+1)^{(r)}}{(k+1)^{(r)}} u_s^k (-q)^{n-k} u_{s-1}^{n-k} H_k \\ &= \frac{1}{(n+1)^{(r)}} \sum_{k=0}^n \binom{n+r}{k+r} u_s^k (-q)^{n-k} u_{s-1}^{n-k} H_k \\ &= \frac{1}{u_s^r (n+1)^{(r)}} \sum_{k=r}^{n+r} \binom{n+r}{k} u_s^k (-q)^{n+r-k} u_{s-1}^{n+r-k} H_{k-r}. \end{aligned}$$

The final result follows from Lemma 2.1. □

Theorem 2.5. Let $0 \leq r < n$ and $s \geq 1$ be integers and let n be even. Then

$$\sum_{k=0}^n \binom{n}{k} \frac{v_s^k (-q)^{n-k} v_{s-1}^{n-k} H_k}{(k+1)^{(r)}} = \frac{1}{v_s^r (n+1)^{(r)}} \left(\Delta_{\frac{n}{2}} H_{s(n+r)-r} - \tilde{\Delta}_{n+r,s}(r) \right).$$

Example 2.6. Consider $J_n = H_n(0, 1; 1, -2)$ which are the Jacobsthal numbers. We have $p = 1$ and $q = -2$, thus for $r = 1$ and $s = 2$,

$$\Delta_{n+1,2}(1) = \binom{n+1}{0} 2^{n+1} \cdot J_{-1} = 2^n$$

and

$$\sum_{k=0}^n \binom{n}{k} \frac{2^{n-k} J_k}{k+1} = \frac{J_{2n+1} - 2^n}{n+1}.$$

Furthermore, setting $r = 2$ we obtain

$$\Delta_{n+2,2}(2) = \binom{n+2}{0} 2^{n+2} J_{-2} + \binom{n+2}{1} 2^{n+1} J_{-1} = (n+1) 2^n$$

and

$$\sum_{k=0}^n \binom{n}{k} \frac{2^{n-k} J_k}{(k+1)(k+2)} = \frac{J_{2n+2} - (n+1) 2^n}{(n+1)(n+2)}.$$

We used $J_{-1} = \frac{1}{2}$ and $J_{-2} = -\frac{1}{4}$. Furthermore, since

$$\tilde{\Delta}_{n+2,2}(2) = \binom{n+2}{0} 2^{n+2} J_{-2} + \binom{n+2}{1} 5 \cdot 2^{n+1} J_{-1} = (5n+9) 2^n,$$

(where $v_2 = 5$), this implies

$$\sum_{k=0}^n \binom{n}{k} \frac{5^k 2^{n-k} J_k}{(k+1)(k+2)} = \frac{3^{n+2} J_{2n+2} - (5n+9) 2^n}{25(n+1)(n+2)},$$

valid for even n .

Example 2.7. Consider the Pell numbers $P_n = H_n(0, 1; 2, -1)$. Here,

$$\begin{aligned} \Delta_{n+1,2}(1) &= \binom{n+1}{0} P_{-1} = 1, \\ \Delta_{n+2,2}(2) &= \binom{n+2}{0} P_{-2} + \binom{n+2}{1} 2 P_{-1} = -2 + 2(n+2) = 2n+2, \\ \Delta_{n+3,2}(3) &= \binom{n+3}{0} P_{-3} + \binom{n+3}{1} 2 P_{-2} + \binom{n+3}{2} 4 P_{-1} = 2n^2 + 6n + 5. \end{aligned}$$

Thus,

$$\begin{aligned}\sum_{k=0}^n \binom{n}{k} \frac{2^k P_k}{k+1} &= \frac{P_{2n+1} - 1}{2(n+1)}, \\ \sum_{k=0}^n \binom{n}{k} \frac{2^k P_k}{(k+1)(k+2)} &= \frac{P_{2n+2} - 2n - 2}{4(n+1)(n+2)}, \\ \sum_{k=0}^n \binom{n}{k} \frac{2^k P_k}{(k+1)(k+2)(k+3)} &= \frac{P_{2n+3} - 2n^2 - 6n - 5}{8(n+1)(n+2)(n+3)}.\end{aligned}$$

3. Two applications

Since we have evaluated the closed form related to Horadam sequence, we now present two applications.

First, we extend the result to sums along arithmetic progression, that is we consider a subsequence H_{tk+s} of the sequence H_k . Then, it is possible to evaluate

$$\sum_{k=0}^n \binom{n}{k} \frac{Q^{n-k} P^k H_{tk+s}}{(k+1)^{(r)}},$$

where $t, s > 0$ with $t \neq 0$ and Q, P are such that

$$H_{tn+s} = PH_{t(n-1)+s} + QH_{t(n-2)+s}.$$

Using the matrix form of the Horadam sequence, the numbers P, Q satisfy

$$\begin{bmatrix} H_s & H_{t+s} \\ H_{t+s} & H_{2t+s} \end{bmatrix} \begin{bmatrix} Q \\ P \end{bmatrix} = \begin{bmatrix} H_{2t+s} \\ H_{3t+s} \end{bmatrix},$$

or

$$P = \frac{H_s H_{3t+s} - H_{t+s} H_{2t+s}}{H_s H_{2t+s} - H_{t+s}^2}, \quad Q = \frac{H_{2t+s}^2 - H_{t+s} H_{3t+s}}{H_s H_{2t+s} - H_{t+s}^2}.$$

From the above and Theorem 2.4 we can now easily obtain the following.

Corollary 3.1. *We have*

$$\sum_{k=0}^n \binom{n}{k} \frac{(-1)^{n-k} 3^k F_{2k}}{k+1} = \frac{F_{4n+2} - (-1)^n}{3n+3}$$

and

$$\sum_{k=0}^n \binom{n}{k} \frac{(-1)^{n-k} 3^k F_{2k+1}}{k+1} = \frac{F_{4n+3} - (-1)^{n+1}}{3n+3}.$$

In particular, $3|F_{4n+4}$.

Proof. Follows from the fact that F_n satisfies the following:

$$\begin{aligned} F_{2n+\delta} &= 3F_{2n-2+\delta} - F_{2n-4+\delta}, & \delta \in \{0, 1\}, \\ F_{-1} &= 1, & F_{-2} = -1. \end{aligned}$$

To see the divisibility property, add the two identities and multiply them by $n + 1$. This makes the left-hand side an integer. $\square$

The second application is to the Fibonacci-like polynomials. These polynomials are given by

$$F_n(x) = xF_{n-1}(x) + F_{n-2}(x), \quad n \geq 2$$

and $F_0(x) = 0, F_1(x) = 1$. They are the Horadam sequences with $p = x$ and $q = -1$. Similarly, Chebyshev polynomials satisfy the Horadam-like recurrence

$$V_n(x) = 2xV_{n-1}(x) - V_{n-2}(x).$$

If $V_0(x) = 1$ and $V_1(x) = x$, then $V_n = T_n$ are the Chebyshev polynomials of the first kind, while if $V_0(x) = 1$ and $V_1(x) = 2x$, $V_n = U_n$ are the Chebyshev polynomials of the second kind. For example, we can compute the following series of identities.

Corollary 3.2. *We have*

$$\begin{aligned} \sum_{k=0}^n \binom{n}{k} \frac{x^k F_k(x)}{k+1} &= \frac{1}{x(n+1)} (F_{2n+1}(x) - 1), \\ \sum_{k=0}^n \binom{n}{k} \frac{x^k F_k(x)}{(k+1)(k+2)} &= \frac{1}{x^2(n+1)(n+2)} (F_{2n+2}(x) - (n+1)x), \\ \sum_{k=0}^n \binom{n}{k} \frac{(2x)^k (-1)^{n-k} T_k(x)}{k+1} &= \frac{1}{2x(n+1)} (T_{2n+1}(x) - (-1)^{n+1}x), \\ \sum_{k=0}^n \binom{n}{k} \frac{(2x)^k (-1)^{n-k} T_k(x)}{(k+1)(k+2)} &= \frac{1}{4x^2(n+1)(n+2)} (T_{2n+2}(x) - (-1)^{n-1}(2(n+1)x^2 + 1)), \\ \sum_{k=0}^n \binom{n}{k} \frac{(2x)^k (-1)^{n-k} U_k(x)}{k+1} &= \frac{1}{2x(n+1)} U_{2n+1}(x), \\ \sum_{k=0}^n \binom{n}{k} \frac{(2x)^k (-1)^{n-k} U_k(x)}{(k+1)(k+2)} &= \frac{1}{4x^2(n+1)(n+2)} (U_{2n+2}(x) - (-1)^{n+1}). \end{aligned}$$

4. Some identities for the Fibonacci m -step numbers

In this section we work with the Fibonacci m -step numbers $F_n^{(m)}$.

Lemma 4.1. For any $m > 1$, $n > 0$ and any $s \in \mathbb{Z}$ we have

$$(4.1) \quad 2^n F_{mn+s}^{(m)} = \sum_{k=0}^n \binom{n}{k} F_{k(m+1)+s}^{(m)}$$

Proof. We use (1.4) to obtain

$$2^n \alpha_{(m)}^{mn} = (2\alpha_{(m)}^m)^n = (1 + \alpha_{(m)}^{m+1})^n = \sum_{k=0}^n \binom{n}{k} \alpha_{(m)}^{k(m+1)},$$

valid for any $\alpha_{(m)}$. Combining this with the Binet formula, we obtain (4.1). $\square$

Theorem 4.2. For any $n > 0$ and $0 < r < n$ integers we have

$$\sum_{k=0}^n \binom{n}{k} \frac{F_{k(m+1)}^{(m)}}{(k+1)^{(r)}} = \frac{1}{(n+1)^{(r)}} \left(2^{n+r} F_{mn-r}^{(m)} - \Delta_{n+r}^{(m)}(r) \right),$$

where

$$\Delta_{n+r}^{(m)}(r) = \sum_{k=0}^{r-1} \binom{n+r}{k} F_{(k-r)(m+1)}^{(m)}.$$

Proof. Using the previous Lemma with $s = -r(m+1)$ and $n \mapsto n+r$, we get

$$\begin{aligned} \sum_{k=0}^n \binom{n}{k} \frac{1}{(k+1)^{(r)}} F_{k(m+1)}^{(m)} &= \frac{1}{(n+1)^{(r)}} \sum_{k=0}^n \binom{n+r}{k+r} F_{k(m+1)}^{(m)} \\ &= \frac{1}{(n+1)^{(r)}} \sum_{k=r}^{n+r} \binom{n+r}{k} F_{(k-r)(m+1)}^{(m)} \\ &= \frac{1}{(n+1)^{(r)}} \left(\sum_{k=0}^{n+r} \binom{n+r}{k} F_{(k-r)(m+1)}^{(m)} - \Delta_{n+r}^{(m)}(r) \right) \\ &= \frac{1}{(n+1)^{(r)}} \left(2^{n+r} F_{mn-r}^{(m)} - \Delta_{n+r}^{(m)}(r) \right). \end{aligned}$$

The proof is completed. $\square$

Corollary 4.3. The following identities hold:

$$\begin{aligned} \sum_{k=0}^n \binom{n}{k} \frac{T_{4k}}{k+1} &= \frac{1}{n+1} (2^{n+1} T_{3n-1} - T_{-4}), \\ \sum_{k=0}^n \binom{n}{k} \frac{T_{4k}}{(k+1)(k+2)} &= \frac{1}{(n+1)(n+2)} (2^{n+2} T_{3n-2} - T_{-8} - (n+2)T_{-4}), \\ \sum_{k=0}^n \binom{n}{k} \frac{Q_{5k}}{k+1} &= \frac{1}{n+1} (2^{n+1} Q_{4n-1} - Q_{-5}), \\ \sum_{k=0}^n \binom{n}{k} \frac{Q_{5k}}{(k+1)(k+2)} &= \frac{1}{(n+1)(n+2)} (2^{n+2} Q_{4n-2} - Q_{-10} - (n+2)Q_{-5}). \end{aligned}$$

We recall the following two polynomial identities:

$$\sum_{k=0}^n \binom{n}{k} (-1)^k \frac{1}{k+2} x^{k+2} (1+x)^{n-k} = \frac{(1+x)^{n+2} - (n+2)x - 1}{(n+1)(n+2)},$$

$$\sum_{k=0}^n \binom{n}{k} (-1)^k \frac{1}{k+2} x^k (1+x)^{n-k} = \sum_{k=0}^n \binom{n}{k} \frac{x^k}{(k+1)(k+2)}.$$

These identities come from Dattoli et al. [6] (see also [9, Identities 1.37-1.41]). Combining these we get

$$(4.2) \quad \sum_{k=0}^n \binom{n}{k} \frac{x^{k+2}}{(k+1)(k+2)} = \frac{(1+x)^{n+2} - (n+2)x - 1}{(n+1)(n+2)},$$

which is the base for our next result.

Theorem 4.4. *We have*

$$\sum_{k=0}^n \binom{n}{k} \frac{F_{(k+2)(m+1)+s}^{(m)}}{(k+1)(k+2)} = \frac{2^{n+2} F_{(n+2)(m+1)+s}^{(m)} - (n+2) F_{m+1+s}^{(m)} - F_s^{(m)}}{(n+1)(n+2)}.$$

Proof. Substitute $x = \alpha_{(m)}^{m+1}$ to (4.2) and use (1.4). Multiply by $\alpha_{(m)}^s$ and combine with the Binet formula. $\square$

We note that setting $s = -2(m+1)$ restores Theorem 4.2 in case $r = 2$.

5. Further Tribonacci and Tetranacci identities

In this section, we will use the following lemma [15], which is essentially a restatement of the binomial expansion.

Lemma 5.1. *We have*

$$(1+x+xy)^n = \sum_{0 \leq j \leq i \leq n} \binom{n}{i} \binom{i}{j} x^i y^j$$

and

$$(1+x+xy+xyz)^n = \sum_{0 \leq k \leq j \leq i \leq n} \binom{n}{i} \binom{i}{j} \binom{j}{k} x^i y^j z^k.$$

Lemma 5.2. *We have*

$$\sum_{0 \leq j \leq i \leq n} \binom{n}{i} \binom{i}{j} T_{i+j+r} = T_{3n+r}$$

and

$$\sum_{0 \leq k \leq j \leq i \leq n} \binom{n}{i} \binom{i}{j} \binom{j}{k} Q_{i+j+k+r} = Q_{4n+r}$$

for any integers n and r .

Proof. We only prove the first identity. Set $t = \alpha_{(3)}$. Use $1 + t + t^2 = t^3$ with combination of Lemma 5.1 with $x = y = t$ to get

$$t^{3n} = (1 + t + t^2)^n = \sum_{0 \leq j \leq i \leq n} \binom{n}{i} \binom{i}{j} t^{i+j}.$$

Multiply by t^r and apply the Binet formula. □

Using the idea similar to Theorem 2.4 we can obtain the following two results.

Theorem 5.3. *For any $n \geq 1$ we have*

$$\sum_{0 \leq j \leq i \leq n} \binom{n}{i} \binom{i}{j} \frac{T_{i+j}}{j+1} = \frac{1}{n+1} \left(T_{3n+1} - \sum_{i=0}^{n+1} \binom{n+1}{i} T_{i-2} \right)$$

and

$$\sum_{0 \leq k \leq j \leq i \leq n} \binom{n}{i} \binom{i}{j} \binom{j}{k} \frac{Q_{i+j+k}}{j+1} = \frac{1}{n+1} \left(Q_{4n+1} - \sum_{0 \leq j \leq i \leq n+1} \binom{n+1}{i} \binom{i}{j} Q_{i+j-3} \right).$$

Proof. We only prove the first identity - the proof of the second one is similar. We have

$$\binom{n}{i} \binom{i}{j} \frac{1}{j+1} = \frac{1}{n+1} \binom{n+1}{i+1} \binom{i+1}{j+1},$$

and thus

$$\begin{aligned} \sum_{0 \leq j \leq i \leq n} \binom{n}{i} \binom{i}{j} \frac{T_{i+j}}{j+1} &= \frac{1}{n+1} \sum_{0 \leq j \leq i \leq n} \binom{n+1}{i+1} \binom{i+1}{j+1} T_{i+j} \\ &= \frac{1}{n+1} \sum_{1 \leq j \leq i \leq n+1} \binom{n+1}{i} \binom{i}{j} T_{i+j-2} \\ &= \frac{1}{n+1} \left(T_{3n+1} - \sum_{i=0}^{n+1} \binom{n+1}{i} T_{i-2} \right). \end{aligned}$$

We utilized Lemma 5.2 in the final equality. □

Remark 5.4. *The closed form of the binomial sum*

$$\sum_{k=0}^n \binom{n}{k} T_k$$

remains unsolved. Similar formulas are known in various different cases, see for example [1] and also [2], where the following is evaluated

$$\sum_{k=0}^n \binom{n}{k} T_{4k+r} = 2^n T_{3n+r}.$$

Acknowledgments

<https://dx.doi.org/10.22108/toc.2026.146194.2307>

The author is grateful to Robert Frontczak for the initial discussions and for many valuable remarks on earlier drafts of this article.

REFERENCES

- [1] K. Adegoke, Weighted tribonacci sums, *Konuralp Journal of Mathematics*, **8** no. 2 (2020) 355–360.
- [2] K. Adegoke, R. Frontczak and T. Goy, Binomial tribonacci sums, *Discrete Math. Lett.*, **8** (2022) 30–37.
- [3] K. Adegoke, R. Frontczak and T. Goy, Binomial Fibonacci sums from Chebyshev polynomials, *J. Integer Seq.*, **26** no. 9 (2023) 26 pp.
- [4] L. Carlitz, Some classes of Fibonacci sums, *Fibonacci Quart.*, **16** no. 5 (1978) 411–425.
- [5] L. Carlitz and H. H. Ferns, Some Fibonacci and Lucas identities, *Fibonacci Quart.*, **8** no. 1 (1970) 61–73.
- [6] G. Dattoli, S. Licciardi and R. M. Pidatella, Inverse derivative operator and umbral methods for the harmonic numbers and telescopic series study, *Symmetry*, **13** (2021).
- [7] R. Frontczak, Problem H-882, Advanced Problems and Solutions, *Fibonacci Quart.*, **59** no. 3 (2021), 281.
- [8] R. Frontczak, Three new classes of binomial Fibonacci sums, *Trans. Comb.*, **14** no. 4 (2025) 251–259.
- [9] H. W. Gould, Combinatorial Identities: A Standardized Set of Tables Listing 500 Binomial Coefficient Summations, Morgantown, USA, 1972.
- [10] V. E. Hoggatt Jr., J. W. Phillips and H. T. Jr. Leonard, Twenty-four master identities, *Fibonacci Quart.*, **9** no. 1 (1971) 1–17.
- [11] D. Jennings, Some polynomial identities for the Fibonacci and Lucas numbers, *Fibonacci Quart.*, **31** no. 2 (1993) 134–137.
- [12] E. Kiliç and E. J. Ionascu, Certain binomial sums with recursive coefficients, *Fibonacci Quart.*, **48** no. 2 (2010) 161–167.
- [13] T. Koshy, *Fibonacci and Lucas numbers with applications*, Wiley–Interscience, 2001.
- [14] J. W. Layman, Certain general binomial-Fibonacci sums, *Fibonacci Quart.*, **15** no. 4 (1977) 362–366.
- [15] F. Taşdemir, Triple sums including Fibonacci numbers with three binomial coefficients, *Notes on Number Theory and Discrete Mathematics*, **27** no. 1 (2021) 188–197.
- [16] Y. T. Ulutaş and D. Toy, Some equalities and binomial sums about the generalized Fibonacci number u_n , *Notes on Number Theory Discrete Mathematics*, **28** no. 2 (2022) 252–260.
- [17] S. Vajda, *Fibonacci and Lucas numbers, and the golden section: theory and applications*, Dover Press, 2008.
- [18] A. Ventas, Problem H-882, Advanced Problems and Solutions, *Fibonacci Quart.*, **61** no. 1 (2023) 95–96.

Karol Gryszka

Institute of Mathematics, University of the National Education Commission, Krakow, Podchorążych 2, 30-084, Kraków, Poland

Email: `karol.gryszka@uken.krakow.pl`